Agency Cost of Outside Equity

100% Owner-managed firm







Attempted behavior if the owner sells (1-α)% to an investor











Decision of manager if outside investor values the firm correctly











Line VF illustrates the feasible combinations of firm value, V, and perquisite consumption, F, attainable from a given level of investment.  The slope of the constraint is -1.  With the manager being 100% owner, the manager maximizes utility at point D, by choosing to consume perquisites of F*, resulting in a firm value of V*
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The former owner now owns only α% of the firm.  If the outside investor values the firm at V* and pays (1-α) x V* for his or her share of the firm, the manager acts as if the dashed line (with a slope of -α) is the new constraint for trading off firm value and perquisites, and maximizes utility at point A.  Firm value declines to V0 and the outside investor loses a fraction of the investment. 
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The outside investor values the firm at V’, recognizing that the manager will increase perquisite consumption once some of the business is sold.  The investor pays (1-α) x V’ for his or her share of the firm.  The manager acts as if the lower dashed line is the new constraint for trading off firm value and perquisites, and maximizes utility at point B.  As expected, firm value declines to V’. 
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� Adapted from Jensen and Meckling (1976).





Fig 12.4-1

